Iay-7J

’rst)a—

RICOH COMPANY,LTD

RICOH

Imagine. change.

LANIER
sdvin.

&

BERN
Hm1EHED

BESREPE
m RH&EA COehfER4

[RAFRIGRE . AERE, FE. (EF - PRI, RR - UD IREEA T

RADRN, FEMLE - Hx
AR : IM C400SRF for NA
FEMHR-FET
-#EEH (EPAR)
~£/70458y/93 (LT)

-h5— 424%/93 (LT)

<JUSK /aE- /2% [FAX

- BERIRFEUERE

- BEEmEEIRIEEE, 27—

-ERAREY (X 1 LGR

XAHRBFICRMAEIFTY
FLwahtsk

4T MBESE (EPD)
=ixZ&ES . JR-AI-24067E

SUMPORIESAINI OIS A
—RAEEAT T T T IVREHEEME
RREFRABXAHPEH1-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jo

H5—EEaH(EPAR)
Color MFP (Electrophotography)

IM C400SRF(for NA)

E—

BIRES  JR-AI-24067E
=TS pA-590000-AT-08
PCR# ERA LR
2ABAE 2024465280
®EES1EE 2024568178

S 25 KRS T
RIEES  JV-AI-24067
REEE %R 2029468 16H
PCRLE1—D=E/fE

FEHSE 20234 94 1H
ZER MR &
—RRAEE NS R T T )VREHEE
B=EHIREEE*
SHEPREES  AIHE B2
ISO14025(CR D EAEERUT —FDMII LR
Hli
OPEB m SHED

*S 27 LRI B BEANORIIDBEE, 27 LRil%E
Ao L EEROLHE TR,

HASHEU I— RREAKHAXFFEAL-3-6 &EiE (03) 3777-8111 (I8K)

https://www.ricoh.co.ip/

Ei&ES © JR-AI-24067E



T1Yy—7 SUMPORIESAIT OIS A
e R TEAY T T RS
A{TMIRKEE S (EPD) Y TFRERAGHE1-14-8

KANDA SQUARE GATE
https://ecoleaf-label.jp

OS54 TY1 DIV EFHTiTER

EixES . JR-AI-24067E

0% 20% 40% 60% 80% 100%
S{RZE) IPCC 2013 GWP 100a 1100 |kg-CO2eq i
FEMEAL 0.93 |kg-S02eq
BRHE 0.55 | kg-Sbeq 0%
m DFREMFERE mQEE Q&
ROFER-HEEE eORE-UYHIIL
iR IH Bifss ait  |omEupmE QfE Qi | amm - wrEE omw- UvroL
SURZEE) IPCC 2013 GWP 100a | kg-COz2eq| 1.1E+03 || 4.6E4+02 | 6.4E+01 | 4.5E+4+01 | 4.7E4+02 | 7.6E+01
izl kg-SO2eq| 9.3E-01 || 4.1E-01 | 6.8E-03 | 8.2E-02 | 4.0E-01 | 3.5E-02
BRHEE kg-Sbeq | 5.5E-01 || 3.3E-01 | 1.2E-04 | 1.9E-04 | 2.2E-01 | 3.1E-05
2 BB 15
IHE By MH - ME (ERES) By
IFBA R EIR 6.4E+01 kg SuUs 1.5E+00 kg
BETIRER 1.3E+02 kg FVIL="TJ A 8.4E-01 kg
5 2.5E+01 | kg
ZOMERE 2.5E400 | kg
o] 2B EAERE 2.7E+01 kg
BE(L MEAEIRE 3.2E-01 kg
HSX 1.2E+00 | kg
EUN 6.6E-01 kg
1 1.1E+01 kg
EEH] 4.0E03 | kg
EROEER 1.7E+00 kg
AHA 1.9E-04 kg




T1Yy—7 SUMPORIESAIT OIS A

(ool e I,

| 17 IRASS (EPD) bR SN GATE
RIRIEE
DR EHES © JR-AI-24067E httos://ecoleaf-label.jip

KSATHADIVCBIIDEREMEERLTVET,

GOREMRICET SEMIEH

- BEEECAVWSSFUACBVWTGERUZER
- IBEHL(EP)

- BIROmEFE ek

- 1BE{FAEAR] : SEER

- FBTEEFIMEL 1 297,60048%
XEBRITRILF—RY—-TOJ S Ver3.0DEEHF%=EA

- BB IR (EIRIABME) O&EEET LU TOER A

©-1.ZDthDIRIZEIERER

- BRINROHSIERICEEHLL TULVE T,

- ARBOMATEE L. FREMTHIDIRINAR. b —DEE(FISO14001585EES L5 (C TITHNTLE T,
o= : SGS-CN18/20330 JQA—-E-70001
https://jp.ricoh.com/sustainability/environment/management/iso

QERBUEZRT—IDERS
IDEA v2.1.3. LU TOJSABRREAVI.1I3EHEALTNET

®fF%

0> —FEFEDSEF. PCREKLUVEE - EEMREZSHRLUTIEE,
OLE(CDUWVTIE. B - EEMRTECRESNIERFZEEUEBECUNMRHSNEE A
(885 URL : https://ecoleaf-label.jp/regulation/)
S#x&ES : JR-AI-24067E



